
Page 1 REV_1.0  05/01/2024

Component List: Installation Instructions:

855-264-8997 CUSTOMER SUPPORT 
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR VISIT, REALTRUCK.COM/CONTACT-US/

IAT-92080  2014-2024 RAM 1500-5500 Classic Body Style

1. Truck Mount Bracket A .......................................... (4)
2. Truck Mount Bracket B .......................................... (2)
3. Board Mount Bracket ............................................. (6)
4. Carriage Bolt M10 x 25mm ..................................(12)
5. Serrated Flange Nut M10 .....................................(12)
6. Bolt Plate M8 x 25mm ........................................... (6)
7. Serrated Flange Bolt M8 x 25mm .......................... (6)
8. Hex Bolt M8 x 25mm .............................................. (8)
9. Flat Washer M8 ...................................................... (8)
10. Serrated Flange Nut M8 .......................................(14)
11. Hex Bolt 5/16”-18 x 1” .........................................(16)
12. Serrated Flange Nut 5/16”-18 .............................(16)

3.

4. 5.

11.

12.

Driver Side

Passenger Side

1. 2.

6. 7. 9.

8. 10.

STEP 1:
There are 3 factory mounting location underneath your 
truck below the doors pictured below (Fig 5 & 6) Front, 
Middle and Rear on each side of the vehicle. Look for 
2 hex holes or 8mm threaded inserts and a bigger oval 
hole with tape over it. We will only use these factory 
locations to mount the brackets.

NOTE: We need to remove the factory tape at each 
location. Peal it off and keep it clean. It can be put back 
to its original place after the bolt plate is installed.

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 
82080  

 

Dodge Ram 2014-Current                
 

Read instructions before beginning installation (No Drilling) 
INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front / Passenger Rear)        2 
Brackets (Passenger Front / Driver Rear)     2   
Bracket (Driver Middle)       1 
Bracket (Passenger Middle)       1 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Combination wrench or sockets with 13mm & ½” 
Safety glasses 
 
 
 

 
 
 
 
 
    
 
 
 
 
 
 
Step 1: Reference picture of bracket positions for later steps.  Regular 
cabs use only 4 brackets (Driver & Passenger Middle brackets are not 
used). 
    

         
 

          
 

Step 2: There are 3 factory mounting location underneath your truck 
below the doors pictured below (Fig 5 & 6) Front, Middle and Rear on 
each side of the vehicle.  Look for 2 hex holes or 8mm threaded inserts 
and a bigger oval hole with tape over it. We will only use these factory 
locations to mount the brackets. 
 

A) If your truck looks like (Fig 5) treaded inserts. Skip to Step 6. 
 

B) If your truck looks like (Fig 6). Continue to Step 3. 
 

   
 
Step 3: We need to remove the factory tape at each location. Peal it off 
and keep it clean.  It can be put back to its original place after the bolt 
plate is installed. 
 
Step 4: Obtain the bolt plate and longer plastic retainer with hole on end. 
Twist on bolt like a nut until plastic almost touches metal plate.  Then 
bend end at angle about ¾” from end. When complete it looks like (Fig 8) 
and is ready to install.  
 

      
 
Step 5: Next insert the bolt plate as shown (Fig 9).  You are going to 
rotate or twist the plastic retainer and get it to come out through the hex 
hole and hold it in place (Fig 11). Take one of the plastic retainers with the 
hole in the center (Fig 7) and screw it on to hold the bolt in place and stop 
it from falling in the rocker panel (Fig 12). Install as indicated below. 
 

A) Driver Front, Driver Middle & Passenger Rear locations (Fig 11)  
 

B) Passenger Front, Passenger Middle & Driver Rear the bolt plate 
should be installed in the right side hole not shown. 
 

   
 

 
 

Bolt Pack Brackets 
5/16 x 1” (Black)      8 
M8 x 1.25 x 25mm      6 
5/16 or 1/4” USS Flat Washer               22 
5/16 Serrated Flange Nut      14 
Bolt Plate 1 ¾” x  ½” with a 5/16 x 1 ¼” Bolt   6 
Plastic Bolt Retainer 3” long hole on end   6  
Plastic Bolt Retainer hole in center    6 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      12 
5/16” Serrated Flange Nut           12 

Fig 1 

Driver 
Front 

Passenger 
Rear 

Passenger 
Front 
Driver 
Rear 

Fig 2 

Driver 
Middle 

Fig 3 Fig 4 

Passenger 
Middle 

Fig 5 Fig 6 

Fig 7 

Fig 8 

3/4" 

Fig 9 Fig 10 Fig 11 

Fig 12 

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 
82080  

 

Dodge Ram 2014-Current                
 

Read instructions before beginning installation (No Drilling) 
INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front / Passenger Rear)        2 
Brackets (Passenger Front / Driver Rear)     2   
Bracket (Driver Middle)       1 
Bracket (Passenger Middle)       1 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Combination wrench or sockets with 13mm & ½” 
Safety glasses 
 
 
 

 
 
 
 
 
    
 
 
 
 
 
 
Step 1: Reference picture of bracket positions for later steps.  Regular 
cabs use only 4 brackets (Driver & Passenger Middle brackets are not 
used). 
    

         
 

          
 

Step 2: There are 3 factory mounting location underneath your truck 
below the doors pictured below (Fig 5 & 6) Front, Middle and Rear on 
each side of the vehicle.  Look for 2 hex holes or 8mm threaded inserts 
and a bigger oval hole with tape over it. We will only use these factory 
locations to mount the brackets. 
 

A) If your truck looks like (Fig 5) treaded inserts. Skip to Step 6. 
 

B) If your truck looks like (Fig 6). Continue to Step 3. 
 

   
 
Step 3: We need to remove the factory tape at each location. Peal it off 
and keep it clean.  It can be put back to its original place after the bolt 
plate is installed. 
 
Step 4: Obtain the bolt plate and longer plastic retainer with hole on end. 
Twist on bolt like a nut until plastic almost touches metal plate.  Then 
bend end at angle about ¾” from end. When complete it looks like (Fig 8) 
and is ready to install.  
 

      
 
Step 5: Next insert the bolt plate as shown (Fig 9).  You are going to 
rotate or twist the plastic retainer and get it to come out through the hex 
hole and hold it in place (Fig 11). Take one of the plastic retainers with the 
hole in the center (Fig 7) and screw it on to hold the bolt in place and stop 
it from falling in the rocker panel (Fig 12). Install as indicated below. 
 

A) Driver Front, Driver Middle & Passenger Rear locations (Fig 11)  
 

B) Passenger Front, Passenger Middle & Driver Rear the bolt plate 
should be installed in the right side hole not shown. 
 

   
 

 
 

Bolt Pack Brackets 
5/16 x 1” (Black)      8 
M8 x 1.25 x 25mm      6 
5/16 or 1/4” USS Flat Washer               22 
5/16 Serrated Flange Nut      14 
Bolt Plate 1 ¾” x  ½” with a 5/16 x 1 ¼” Bolt   6 
Plastic Bolt Retainer 3” long hole on end   6  
Plastic Bolt Retainer hole in center    6 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      12 
5/16” Serrated Flange Nut           12 

Fig 1 

Driver 
Front 

Passenger 
Rear 

Passenger 
Front 
Driver 
Rear 

Fig 2 

Driver 
Middle 

Fig 3 Fig 4 

Passenger 
Middle 

Fig 5 Fig 6 

Fig 7 

Fig 8 

3/4" 

Fig 9 Fig 10 Fig 11 

Fig 12 

STEP 2 with “Fig 6 setup”:
Obtain the bolt plate (6) and longer plastic retainer with 
hole on end. Twist on bolt like a nut until plastic almost 
touches metal plate. Then bend end at angle about ¾” 
from end. When complete it looks like (Fig 8) and is 
ready to install.

STEP 2 with “Fig 5 setup”:
Use the serrated flange bolt (7) to mount brackets.

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 
82080  

 

Dodge Ram 2014-Current                
 

Read instructions before beginning installation (No Drilling) 
INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front / Passenger Rear)        2 
Brackets (Passenger Front / Driver Rear)     2   
Bracket (Driver Middle)       1 
Bracket (Passenger Middle)       1 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Combination wrench or sockets with 13mm & ½” 
Safety glasses 
 
 
 

 
 
 
 
 
    
 
 
 
 
 
 
Step 1: Reference picture of bracket positions for later steps.  Regular 
cabs use only 4 brackets (Driver & Passenger Middle brackets are not 
used). 
    

         
 

          
 

Step 2: There are 3 factory mounting location underneath your truck 
below the doors pictured below (Fig 5 & 6) Front, Middle and Rear on 
each side of the vehicle.  Look for 2 hex holes or 8mm threaded inserts 
and a bigger oval hole with tape over it. We will only use these factory 
locations to mount the brackets. 
 

A) If your truck looks like (Fig 5) treaded inserts. Skip to Step 6. 
 

B) If your truck looks like (Fig 6). Continue to Step 3. 
 

   
 
Step 3: We need to remove the factory tape at each location. Peal it off 
and keep it clean.  It can be put back to its original place after the bolt 
plate is installed. 
 
Step 4: Obtain the bolt plate and longer plastic retainer with hole on end. 
Twist on bolt like a nut until plastic almost touches metal plate.  Then 
bend end at angle about ¾” from end. When complete it looks like (Fig 8) 
and is ready to install.  
 

      
 
Step 5: Next insert the bolt plate as shown (Fig 9).  You are going to 
rotate or twist the plastic retainer and get it to come out through the hex 
hole and hold it in place (Fig 11). Take one of the plastic retainers with the 
hole in the center (Fig 7) and screw it on to hold the bolt in place and stop 
it from falling in the rocker panel (Fig 12). Install as indicated below. 
 

A) Driver Front, Driver Middle & Passenger Rear locations (Fig 11)  
 

B) Passenger Front, Passenger Middle & Driver Rear the bolt plate 
should be installed in the right side hole not shown. 
 

   
 

 
 

Bolt Pack Brackets 
5/16 x 1” (Black)      8 
M8 x 1.25 x 25mm      6 
5/16 or 1/4” USS Flat Washer               22 
5/16 Serrated Flange Nut      14 
Bolt Plate 1 ¾” x  ½” with a 5/16 x 1 ¼” Bolt   6 
Plastic Bolt Retainer 3” long hole on end   6  
Plastic Bolt Retainer hole in center    6 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      12 
5/16” Serrated Flange Nut           12 

Fig 1 

Driver 
Front 

Passenger 
Rear 

Passenger 
Front 
Driver 
Rear 

Fig 2 

Driver 
Middle 

Fig 3 Fig 4 

Passenger 
Middle 

Fig 5 Fig 6 

Fig 7 

Fig 8 

3/4" 

Fig 9 Fig 10 Fig 11 

Fig 12 

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 
82080  

 

Dodge Ram 2014-Current                
 

Read instructions before beginning installation (No Drilling) 
INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front / Passenger Rear)        2 
Brackets (Passenger Front / Driver Rear)     2   
Bracket (Driver Middle)       1 
Bracket (Passenger Middle)       1 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Combination wrench or sockets with 13mm & ½” 
Safety glasses 
 
 
 

 
 
 
 
 
    
 
 
 
 
 
 
Step 1: Reference picture of bracket positions for later steps.  Regular 
cabs use only 4 brackets (Driver & Passenger Middle brackets are not 
used). 
    

         
 

          
 

Step 2: There are 3 factory mounting location underneath your truck 
below the doors pictured below (Fig 5 & 6) Front, Middle and Rear on 
each side of the vehicle.  Look for 2 hex holes or 8mm threaded inserts 
and a bigger oval hole with tape over it. We will only use these factory 
locations to mount the brackets. 
 

A) If your truck looks like (Fig 5) treaded inserts. Skip to Step 6. 
 

B) If your truck looks like (Fig 6). Continue to Step 3. 
 

   
 
Step 3: We need to remove the factory tape at each location. Peal it off 
and keep it clean.  It can be put back to its original place after the bolt 
plate is installed. 
 
Step 4: Obtain the bolt plate and longer plastic retainer with hole on end. 
Twist on bolt like a nut until plastic almost touches metal plate.  Then 
bend end at angle about ¾” from end. When complete it looks like (Fig 8) 
and is ready to install.  
 

      
 
Step 5: Next insert the bolt plate as shown (Fig 9).  You are going to 
rotate or twist the plastic retainer and get it to come out through the hex 
hole and hold it in place (Fig 11). Take one of the plastic retainers with the 
hole in the center (Fig 7) and screw it on to hold the bolt in place and stop 
it from falling in the rocker panel (Fig 12). Install as indicated below. 
 

A) Driver Front, Driver Middle & Passenger Rear locations (Fig 11)  
 

B) Passenger Front, Passenger Middle & Driver Rear the bolt plate 
should be installed in the right side hole not shown. 
 

   
 

 
 

Bolt Pack Brackets 
5/16 x 1” (Black)      8 
M8 x 1.25 x 25mm      6 
5/16 or 1/4” USS Flat Washer               22 
5/16 Serrated Flange Nut      14 
Bolt Plate 1 ¾” x  ½” with a 5/16 x 1 ¼” Bolt   6 
Plastic Bolt Retainer 3” long hole on end   6  
Plastic Bolt Retainer hole in center    6 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      12 
5/16” Serrated Flange Nut           12 

Fig 1 

Driver 
Front 

Passenger 
Rear 

Passenger 
Front 
Driver 
Rear 

Fig 2 

Driver 
Middle 

Fig 3 Fig 4 

Passenger 
Middle 

Fig 5 Fig 6 

Fig 7 

Fig 8 

3/4" 

Fig 9 Fig 10 Fig 11 

Fig 12 



Page 2 REV_1.0  05/01/2024

855-264-8997 CUSTOMER SUPPORT 
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR VISIT, REALTRUCK.COM/CONTACT-US/

IAT-92080  2014-2024 RAM 1500-5500 Classic Body Style

STEP 3:
Next insert the bolt plate as shown (Fig 9). You are going 
to rotate or twist the plastic retainer and get it to come  
out through the hex hole and hold it in place (Fig 11).  
Take one of the plastic retainers with the hole in the  
center (Fig 7) and screw it on to hold the bolt in place  
and stop it from falling in the rocker panel (Fig 12).

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 
82080  

 

Dodge Ram 2014-Current                
 

Read instructions before beginning installation (No Drilling) 
INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front / Passenger Rear)        2 
Brackets (Passenger Front / Driver Rear)     2   
Bracket (Driver Middle)       1 
Bracket (Passenger Middle)       1 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Combination wrench or sockets with 13mm & ½” 
Safety glasses 
 
 
 

 
 
 
 
 
    
 
 
 
 
 
 
Step 1: Reference picture of bracket positions for later steps.  Regular 
cabs use only 4 brackets (Driver & Passenger Middle brackets are not 
used). 
    

         
 

          
 

Step 2: There are 3 factory mounting location underneath your truck 
below the doors pictured below (Fig 5 & 6) Front, Middle and Rear on 
each side of the vehicle.  Look for 2 hex holes or 8mm threaded inserts 
and a bigger oval hole with tape over it. We will only use these factory 
locations to mount the brackets. 
 

A) If your truck looks like (Fig 5) treaded inserts. Skip to Step 6. 
 

B) If your truck looks like (Fig 6). Continue to Step 3. 
 

   
 
Step 3: We need to remove the factory tape at each location. Peal it off 
and keep it clean.  It can be put back to its original place after the bolt 
plate is installed. 
 
Step 4: Obtain the bolt plate and longer plastic retainer with hole on end. 
Twist on bolt like a nut until plastic almost touches metal plate.  Then 
bend end at angle about ¾” from end. When complete it looks like (Fig 8) 
and is ready to install.  
 

      
 
Step 5: Next insert the bolt plate as shown (Fig 9).  You are going to 
rotate or twist the plastic retainer and get it to come out through the hex 
hole and hold it in place (Fig 11). Take one of the plastic retainers with the 
hole in the center (Fig 7) and screw it on to hold the bolt in place and stop 
it from falling in the rocker panel (Fig 12). Install as indicated below. 
 

A) Driver Front, Driver Middle & Passenger Rear locations (Fig 11)  
 

B) Passenger Front, Passenger Middle & Driver Rear the bolt plate 
should be installed in the right side hole not shown. 
 

   
 

 
 

Bolt Pack Brackets 
5/16 x 1” (Black)      8 
M8 x 1.25 x 25mm      6 
5/16 or 1/4” USS Flat Washer               22 
5/16 Serrated Flange Nut      14 
Bolt Plate 1 ¾” x  ½” with a 5/16 x 1 ¼” Bolt   6 
Plastic Bolt Retainer 3” long hole on end   6  
Plastic Bolt Retainer hole in center    6 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      12 
5/16” Serrated Flange Nut           12 

Fig 1 

Driver 
Front 

Passenger 
Rear 

Passenger 
Front 
Driver 
Rear 

Fig 2 

Driver 
Middle 

Fig 3 Fig 4 

Passenger 
Middle 

Fig 5 Fig 6 

Fig 7 

Fig 8 

3/4" 

Fig 9 Fig 10 Fig 11 

Fig 12 

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 
82080  

 

Dodge Ram 2014-Current                
 

Read instructions before beginning installation (No Drilling) 
INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front / Passenger Rear)        2 
Brackets (Passenger Front / Driver Rear)     2   
Bracket (Driver Middle)       1 
Bracket (Passenger Middle)       1 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Combination wrench or sockets with 13mm & ½” 
Safety glasses 
 
 
 

 
 
 
 
 
    
 
 
 
 
 
 
Step 1: Reference picture of bracket positions for later steps.  Regular 
cabs use only 4 brackets (Driver & Passenger Middle brackets are not 
used). 
    

         
 

          
 

Step 2: There are 3 factory mounting location underneath your truck 
below the doors pictured below (Fig 5 & 6) Front, Middle and Rear on 
each side of the vehicle.  Look for 2 hex holes or 8mm threaded inserts 
and a bigger oval hole with tape over it. We will only use these factory 
locations to mount the brackets. 
 

A) If your truck looks like (Fig 5) treaded inserts. Skip to Step 6. 
 

B) If your truck looks like (Fig 6). Continue to Step 3. 
 

   
 
Step 3: We need to remove the factory tape at each location. Peal it off 
and keep it clean.  It can be put back to its original place after the bolt 
plate is installed. 
 
Step 4: Obtain the bolt plate and longer plastic retainer with hole on end. 
Twist on bolt like a nut until plastic almost touches metal plate.  Then 
bend end at angle about ¾” from end. When complete it looks like (Fig 8) 
and is ready to install.  
 

      
 
Step 5: Next insert the bolt plate as shown (Fig 9).  You are going to 
rotate or twist the plastic retainer and get it to come out through the hex 
hole and hold it in place (Fig 11). Take one of the plastic retainers with the 
hole in the center (Fig 7) and screw it on to hold the bolt in place and stop 
it from falling in the rocker panel (Fig 12). Install as indicated below. 
 

A) Driver Front, Driver Middle & Passenger Rear locations (Fig 11)  
 

B) Passenger Front, Passenger Middle & Driver Rear the bolt plate 
should be installed in the right side hole not shown. 
 

   
 

 
 

Bolt Pack Brackets 
5/16 x 1” (Black)      8 
M8 x 1.25 x 25mm      6 
5/16 or 1/4” USS Flat Washer               22 
5/16 Serrated Flange Nut      14 
Bolt Plate 1 ¾” x  ½” with a 5/16 x 1 ¼” Bolt   6 
Plastic Bolt Retainer 3” long hole on end   6  
Plastic Bolt Retainer hole in center    6 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      12 
5/16” Serrated Flange Nut           12 

Fig 1 

Driver 
Front 

Passenger 
Rear 

Passenger 
Front 
Driver 
Rear 

Fig 2 

Driver 
Middle 

Fig 3 Fig 4 

Passenger 
Middle 

Fig 5 Fig 6 

Fig 7 

Fig 8 

3/4" 

Fig 9 Fig 10 Fig 11 

Fig 12 

STEP 4:
Front & Rear Position: Place bracket A (1) over bolt 
plate and attach with M8 serrated flange nut (10).  
At pinch weld use one M8 Bolt (8) with flat washer (9) 
and secure with serrated flange nut (10).
Middle Position: Place bracket B (2) over bolt plate  
and attach with M8 serrated flange nut (10). At pinch 
weld use two M8 Bolts (8) with flat washers (9) and 
secure with serrated flange nuts (10).
NOTE: Trucks that are equipped with threaded inserts 
will use M8 serrated flange bolt (7) instead of the bolt 
plate in the upper mounting location.

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Step 6: Trucks that are equipped with threaded inserts do not require the 
bolt plates.   
 
Front Driver: Place bracket over bolt plate and attach with M8 nut with 
washer. If treaded insert attach with M8 x 25mm bolt with washer. Now 
install Black 5/16” bolt with washer through lower pinch weld hole and 
bracket. Then secure with washer and 5/16” nut. Hand tighten or snug all 
fasteners to hold bracket in place but do not tighten. 
 

 
 
 
Step 7: Middle Driver will install the same as the front it will use (2) bolts 
in the pinch weld. Snug all fasteners to hold bracket but do not tighten. 
 

 
 
 
Step 8: Rear Driver will install the same as the front and middle brackets. 
It will use (1) bolts in the pinch weld. Snug all fasteners to hold bracket 
but do not tighten. 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
Step 14: This will show you the location and what the brackets should 
look like after you have them installed on the vehicle.  The driver and 
passenger will look the same.  
 

 
 
 
Step 9: Now install running boards on the brackets. Obtain the bracket to 
board bolt pack.  Take out the provided 5/16”*3/4” bolts.  Slide the head 
of the bolts down the channels on the underside of the board.   
 

 
 
 
Step 14: Place the board on the installed mounting brackets.  Align the 
bolts with the slots on the brackets and drop them into place.  Next thread 
the provided 5/16” flange nuts onto the bolts to hold the board and leave 
loose.  Adjust the board in or out, right or left to meet your needs.  Once 
the boards are in place to your liking, tighten all fasteners on the brackets. 
Front and rear first and then the center brackets finally the boards.  This 
will complete your installation.  Enjoy! 
 
 

 
 
 
Step 15: To view the instructions with clear pictures that can be zoomed 
in and out.  Please visit our instruction page at the web address below. 
 

www.runningboardwarehouse.com/installationinstructions.aspx 
 

Fig 17 

 Driver Front 

Fig 13 

Driver Middle 

Driver Rear 

Fig 14 

Fig 15 

Install Black 
bolt w/washer 
through pinch 
weld and 
bracket secure 
with washer 
and nut 

Secure with 
washer and 
nut or use 
washer and 
M8x25mm 
bolt 

Fig 18 

 

Fig 16 

 
Top of brackets where board mounts 

should face as indicated by arrow 

 

Front 

 

Rear 

 

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Step 6: Trucks that are equipped with threaded inserts do not require the 
bolt plates.   
 
Front Driver: Place bracket over bolt plate and attach with M8 nut with 
washer. If treaded insert attach with M8 x 25mm bolt with washer. Now 
install Black 5/16” bolt with washer through lower pinch weld hole and 
bracket. Then secure with washer and 5/16” nut. Hand tighten or snug all 
fasteners to hold bracket in place but do not tighten. 
 

 
 
 
Step 7: Middle Driver will install the same as the front it will use (2) bolts 
in the pinch weld. Snug all fasteners to hold bracket but do not tighten. 
 

 
 
 
Step 8: Rear Driver will install the same as the front and middle brackets. 
It will use (1) bolts in the pinch weld. Snug all fasteners to hold bracket 
but do not tighten. 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
Step 14: This will show you the location and what the brackets should 
look like after you have them installed on the vehicle.  The driver and 
passenger will look the same.  
 

 
 
 
Step 9: Now install running boards on the brackets. Obtain the bracket to 
board bolt pack.  Take out the provided 5/16”*3/4” bolts.  Slide the head 
of the bolts down the channels on the underside of the board.   
 

 
 
 
Step 14: Place the board on the installed mounting brackets.  Align the 
bolts with the slots on the brackets and drop them into place.  Next thread 
the provided 5/16” flange nuts onto the bolts to hold the board and leave 
loose.  Adjust the board in or out, right or left to meet your needs.  Once 
the boards are in place to your liking, tighten all fasteners on the brackets. 
Front and rear first and then the center brackets finally the boards.  This 
will complete your installation.  Enjoy! 
 
 

 
 
 
Step 15: To view the instructions with clear pictures that can be zoomed 
in and out.  Please visit our instruction page at the web address below. 
 

www.runningboardwarehouse.com/installationinstructions.aspx 
 

Fig 17 

 Driver Front 

Fig 13 

Driver Middle 

Driver Rear 

Fig 14 

Fig 15 

Install Black 
bolt w/washer 
through pinch 
weld and 
bracket secure 
with washer 
and nut 

Secure with 
washer and 
nut or use 
washer and 
M8x25mm 
bolt 

Fig 18 

 

Fig 16 

 
Top of brackets where board mounts 

should face as indicated by arrow 

 

Front 

 

Rear 

 

For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Step 6: Trucks that are equipped with threaded inserts do not require the 
bolt plates.   
 
Front Driver: Place bracket over bolt plate and attach with M8 nut with 
washer. If treaded insert attach with M8 x 25mm bolt with washer. Now 
install Black 5/16” bolt with washer through lower pinch weld hole and 
bracket. Then secure with washer and 5/16” nut. Hand tighten or snug all 
fasteners to hold bracket in place but do not tighten. 
 

 
 
 
Step 7: Middle Driver will install the same as the front it will use (2) bolts 
in the pinch weld. Snug all fasteners to hold bracket but do not tighten. 
 

 
 
 
Step 8: Rear Driver will install the same as the front and middle brackets. 
It will use (1) bolts in the pinch weld. Snug all fasteners to hold bracket 
but do not tighten. 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
Step 14: This will show you the location and what the brackets should 
look like after you have them installed on the vehicle.  The driver and 
passenger will look the same.  
 

 
 
 
Step 9: Now install running boards on the brackets. Obtain the bracket to 
board bolt pack.  Take out the provided 5/16”*3/4” bolts.  Slide the head 
of the bolts down the channels on the underside of the board.   
 

 
 
 
Step 14: Place the board on the installed mounting brackets.  Align the 
bolts with the slots on the brackets and drop them into place.  Next thread 
the provided 5/16” flange nuts onto the bolts to hold the board and leave 
loose.  Adjust the board in or out, right or left to meet your needs.  Once 
the boards are in place to your liking, tighten all fasteners on the brackets. 
Front and rear first and then the center brackets finally the boards.  This 
will complete your installation.  Enjoy! 
 
 

 
 
 
Step 15: To view the instructions with clear pictures that can be zoomed 
in and out.  Please visit our instruction page at the web address below. 
 

www.runningboardwarehouse.com/installationinstructions.aspx 
 

Fig 17 

 Driver Front 

Fig 13 

Driver Middle 

Driver Rear 

Fig 14 

Fig 15 

Install Black 
bolt w/washer 
through pinch 
weld and 
bracket secure 
with washer 
and nut 

Secure with 
washer and 
nut or use 
washer and 
M8x25mm 
bolt 

Fig 18 

 

Fig 16 

 
Top of brackets where board mounts 

should face as indicated by arrow 

 

Front 

 

Rear 

 

Front Middle Rear

STEP 5:
Before installing the board bracket (3), decide the 
preferred height. Here are our suggestions, but you can 
adjust to your preference:
A. For 61 Series, 51 Series, & Gladiator boards.
B. For 41 Series, CVX, & Factory Style boards (all from A).
C. Lower position for any board.

STEP 6:
Use a carriage bolt (4) through the truck bracket (1or2) 
into the board bracket (3) and secure it with a serrated 
flange nut (5). Hand-tighten at this time.

STEP 7:
With one side of the brackets installed, use a flat  
edge (such as a yardstick, level, or the included  
running board) placed on the board bracket tab.  
Align the brackets level to each other and fully  
tighten all hardware.

A.

B.

C.



Page 3 REV_1.0  05/01/2024

855-264-8997 CUSTOMER SUPPORT 
MON-FRI (EST) 8AM-5PM, SAT-SUN CLOSED 
OR VISIT, REALTRUCK.COM/CONTACT-US/

IAT-92080  2014-2024 RAM 1500-5500 Classic Body Style

STEP 8:
To install running boards onto the brackets, obtain the 
board bolt pack included with the board you selected. 
Take the 5/16” X 1” long bolts, and slide the head of the 
bolts down the channels on the underside of the board. 
Use 4 bolts in both channels.

STEP 9:
Place the board on the installed mounting brackets. Align 
the bolts with the slots on the brackets and drop them 
into place. Thread the provided 5/16” flange nuts onto the 
bolts, but do not fully tighten yet. Adjust the board left to 
right and in and out to your desired position. Avoid using 
power or air tools. Finally, tighten all board hardware to 
20ft lbs torque to secure the board to the bracket.


